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) Taipei is in the of Taiwan, and there are more than two million people living there.
(A)deal (B)south (C)north (D) grade
) On weekends, Nancy always goes to enjoy the sun with her friends. This week, they went

to Kenting and had a good time.
(A)hotspring (B)south (C)queen (D) power

) Lilyisa girl, and she will get nervous when someone is looking at her.
(A)correct (B) part-time (C)shy (D) national

) May and Susan only have NT$20, so they make a to share the ice cream.
(A)row (B)east (C)queen (D) deal

) I can’t find any other seats. Do you if 1 sit with you at the same table?
(A)encourage (B)mind (C)learn (D) help

) I’'m a little cold. Could you give me a , please?
(A)soup (B)clothes (C)blanket (D) shorts

) I think it’s to tell lies to your parents. Be honest!
(A)safe (B)stupid (C)wise (D) popular

) The shows that it’s healthy to eat more vegetables and less meat every day.
(A)map (B)sight (C)study (D) note

) If you use your money , YOU can save as much money as you want.
(A)simply (B) wisely (C) bravely (D) lonely

) This was made by my uncle to pick mangoes (=% ) .
(A)brain (B)date (C)tool (D) sight

) Itis raining so heavily that we can’t play basketball outside. Let’s watch TV at home
(A)insttad (B) suddenly (C) probably (D) already

) Megan that somebody took her luggage ( i= % ) by mistake.
(A)actedon (B) pointedout (C) changedinto (D ) laughed at

) Leo is 17 years old now. He is too young to in the election.
(A) knowledge (B)hand (C)agree (D) vote

) | believe that he didn’t join us for the reasons. He was too busy and tired.
(A)ballot (B)step (C)candidate (D) following

) There is going to be a(n) for our city. Who will be our new leader?
(A)idea (B)election (C)IDcard (D) step
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) Don’t worry. We won’t be late, and :
(A)sowill they (B) they won’t, either ( C) they will, too (D ) neither are they
) Kenny doesn’t eat meat, and .
(A)sodoesLucy (B) Lucydoes,too (C) neitherdoes Lucy (D) Lucy isn’t, either
) Lily never joins a club, and Zoe , either.
(A)does (B)doesn’t (C)is (D)isnt
) Elaine didn’t go to church yesterday, and Luke.
(A) neitherdid (B)did,too (C) didn’teither (D) sodid
) Anna Lisa have stopped exercising at the gym for months.
(A) Both;and (B) Notonly; butalso (C) Either; or (D) Neither; nor



6. () People had to wash clothes by hand before, but now washing machines by most families.

(A)use (B)areused (C)hasbeenused (D) willuse

7.( ) | forgot to bring my umbrella, I ran back home in the rain.
(A) Although; x (B) Though; but (C ) Because; x (D ) Because; so
8. ( ) it was raining hard, they still got to school on time.
(A) Though; x (B) Although; but (C ) Because; x (D) Because; so
9. () Was he not the first man took a spacewalk ( = % % # ) on the moon?
(A)who (B)when (C)which (D) where
10. () The planet on we live is called Earth.

(A)that (B)which (C)where (D) whom
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